

KQTV (Nexstar Broadcasting Inc Advertiser 2650 E Division Agency Springfield, MO 65803 Product

Canal Partners Media 25 Whitlock Place SW 2nd Floor Marietta, GA 30064

## Contract # 1436917

Schedule Dates 10/03/16-10/09/16

Agency Chris Koster/Governor/Democrat/MO (82428)

Agency Canal Partners Media (19302)

 Product
 Political - Governor (1067)

 Brand
 726/837/4454 (563421)

Salesperson Katz - Washington DC, Washington DC (1179)

Sales Office Katz - Washington DC

Buyer Name Chris, Brimer,

Phone/Fax /

CPE 726/837/4454
Account Types National/Political

Billing Type Standard
Comments

Date Entered 09/26/16
Last Modified 09/30/16
Entered By Mandy Jo Fultz

Entered By Mandy Jo
CO-OP No
Headline # 25318067

Demo

Normal

Comments:

Date:

Order Type Package Deal

Commission % 15.00
Commission \$1,559.25
Net Total \$8,835.75

Sales Tax

St Joseph (KQTV)		
By Broadcast Month	<b>Spots</b>	<u>Rate</u>
Oct. 2016	84	\$10,395.00
Grand Total:	84	\$10,395.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr :	Sa S	Su	Spots	Rate	Total	Station	Comments	Entered
1.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	5:29A- KQ2 Hometown This Morning		2	2	2	2	2			10	\$45.00	\$450.00	St Joseph (KQTV)		9/26/16
2.0	Revised Line / SPOT	10/03/16-10/07/16	5	1:00	5:29A- KQ2 Hometown This Morning		1	1	1	1	1						St Joseph (KQTV)		9/26/16
2.1	Normal Line / SPOT	10/03/16-10/07/16	5	:30	5:29A- KQ2 Hometown This Morning		1	1	1	1	1			5	\$45.00	\$225.00	St Joseph (KQTV)		9/29/16
3.0	Normal Line / SPOT	10/03/16-10/07/16	4	:30	7A- Good Morning America		1	1	1	1	1			5	\$65.00	\$325.00	St Joseph (KQTV)		9/26/16
4.0	Revised Line / SPOT	10/03/16-10/06/16	4	1:00	7A- Good Morning America		1		1	1							St Joseph (KQTV)		9/26/16
4.1	Normal Line / SPOT	10/03/16-10/06/16	4	:30	7A- Good Morning America		1		1	1				3	\$65.00	\$195.00	St Joseph (KQTV)		9/29/16
5.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	9A- Live With Kelly & Michael		1		1		1			3	\$35.00	\$105.00	St Joseph (KQTV)		9/26/16
6.0	Revised Line / SPOT	10/03/16-10/07/16	5	1:00	9A- Live With Kelly & Michael		1		1	8 8 8 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9	1						St Joseph (KQTV)		9/26/16
6.1	Normal Line / SPOT	10/03/16-10/07/16	5	:30	9A- Live With Kelly & Michael		1		1	8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8	1			3	\$35.00	\$105.00	St Joseph (KQTV)		9/29/16
7.0	Normal Line / SPOT	10/03/16-10/07/16	4	:30	10A- The View		1		1		1			3	\$100.00	\$300.00	St Joseph (KQTV)		9/26/16
					CON	FIF	RM	ΑT	101	N (		NT	R	AC	Τ	_			

Accepted-Station:

Date:

See the back of this document for Advertising Contract Terms and Conditions

B/E Bookend P/B Piggy Back

Accepted-Agency/Advertiser:

KG DZ
your Hometown NEVVS

KQTV (Nexstar Broadcasting Inchidertiser 2650 E Division Agency Product

Springfield, MO 65803

Canal Partners Media 25 Whitlock Place SW 2nd Floor Marietta, GA 30064

1436917 Contract #

Schedule Dates 10/03/16-10/09/16

Chris Koster/Governor/Democrat/MO (82428)

Canal Partners Media (19302) Political - Governor (1067)

Brand 726/837/4454 (563421)

Salesperson Katz - Washington DC, Washington DC (1179)

Sales Office Katz - Washington DC **Buyer Name** Chris, Brimer,

Phone/Fax

Date:

Accepted-Station:

CPE 726/837/4454 **Account Types** National/Political

Billing Type Standard Comments

**Date Entered** 09/26/16 **Last Modified** 09/30/16 Mandy Jo Fultz

**Entered By** No CO-OP

25318067 Headline #

Demo

Order Type Normal

Package Deal Commission % 15.00

**Net Total** \$8,835.75

\$1,559.25

Comments:

Date:

Sales Tax

Commission

St Joseph (KQTV) **Spots** By Broadcast Month Rate Oct. 2016 84 \$10,395.00 Grand Total: 84 \$10,395.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We -	Th F	r S	Sa Su	Spots	Rate	Total	Station	Comments	Entered
8.0	Revised Line / SPOT	10/04/16-10/06/16	4	1 :30	10A- The View			1		1						St Joseph (KQTV)		9/26/16
8.1	Normal Line / SPOT	10/04/16-10/06/16	4	:30	10A- The View			1		1			2	\$100.00	\$200.00	St Joseph (KQTV)		9/29/16
9.0	Normal Line / SPOT	10/03/16-10/07/16	4	:30	1P- ABC General Hospital 1p		1	1	1	1 1	1		5	\$70.00	\$350.00	St Joseph (KQTV)		9/26/16
10.0	Revised Line / SPOT	10/03/16-10/07/16	4	1:00	1P- ABC General Hospital 1p		1		1	1	1					St Joseph (KQTV)		9/26/16
10.1	Normal Line / SPOT	10/03/16-10/07/16	4	:30	1P- ABC General Hospital 1p	,	1		1	1	1		3	\$70.00	\$210.00	St Joseph (KQTV)		9/29/16
11.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	3P- Dr Phil		1	1	1	1 1	1		5	\$50.00	\$250.00	St Joseph (KQTV)		9/26/16
12.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	4P- 5P (CST)		1	1	1	1 1	1		5	\$60.00	\$300.00	St Joseph (KQTV)	Jeopardy	9/26/16
13.0	Revised Line / SPOT	10/03/16-10/07/16	5	1:00	4P- 5P (CST)		1		1	1	1					St Joseph (KQTV)	Jeopardy	9/26/16
13.1	Normal Line / SPOT	10/03/16-10/07/16	5	:30	4P- 5P (CST)		1		1	1	1		3	\$60.00	\$180.00	St Joseph (KQTV)	Jeopardy	9/29/16
14.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	4:58P- Hometown Live at Five		1		1	1	1		3	\$135.00	\$405.00	St Joseph (KQTV)		9/26/16
15.0	Revised Line / SPOT	10/04/16-10/06/16		1:00	4:58P- Hometown Live at Five			1		1						St Joseph (KQTV)		9/26/16
15.1	Normal Line / SPOT	10/04/16-10/06/16	5	:30	4:58P- Hometown Live at Five			1		1			2	\$135.00	\$270.00	St Joseph (KQTV)		9/29/16
					CON	FIF	l RM	ΑΤΙ	<u> </u>	1 C	$\cap$	NTE	RAC	Т				

See the back of this document for Advertising Contract Terms and Conditions

B/E Bookend P/B Piggy Back

Accepted-Agency/Advertiser:

13692	)
your Hometown NEWS	

KQTV (Nexstar Broadcasting Inchivertiser 2650 E Division Agency Springfield, MO 65803

Canal Partners Media 25 Whitlock Place SW 2nd Floor Marietta, GA 30064

1436917 Contract #

Schedule Dates 10/03/16-10/09/16

Chris Koster/Governor/Democrat/MO (82428) Canal Partners Media (19302)

Product Political - Governor (1067) Brand 726/837/4454 (563421)

Salesperson Katz - Washington DC, Washington DC (1179) Sales Office Katz - Washington DC

Chris, Brimer, **Buyer Name** Phone/Fax

CPE 726/837/4454 **Account Types** National/Political

Billing Type Standard

Comments

**Date Entered** 09/26/16 **Last Modified** 09/30/16 Mandy Jo Fultz **Entered By** 

No CO-OP 25318067 Headline #

Demo

Order Type Normal Package Deal

Commission % 15.00

\$1,559.25 **Net Total** \$8,835.75

Sales Tax

Commission

St Joseph (KQTV)		
By Broadcast Month	<b>Spots</b>	<u>Rate</u>
Oct. 2016	84	\$10,395.00
Grand Total:	84	\$10,395.00

Line	Line Type / Break Type (Ref #)	Dates	Sec	Length	Run Times	SPW	Мо	Tu	We	Th	Fr S	a S	Su Sp	oots	Rate	Total	Station	Comments	Entered
16.0	Normal Line / SPOT	10/04/16-10/06/16	5	:30	5:58P- KQ2 Hometown News at Six			1		1				2	\$350.00	\$700.00	St Joseph (KQTV)		9/26/16
17.0	Revised Line / SPOT	10/03/16-10/07/16	5	1:00	5:58P- KQ2 Hometown News at Six		1		1		1						St Joseph (KQTV)		9/26/16
17.1	Normal Line / SPOT	10/03/16-10/07/16	5	:30	5:58P- KQ2 Hometown News at Six		1		1		1			3	\$350.00	\$1,050.00	St Joseph (KQTV)		9/29/16
18.0	Normal Line / SPOT	10/03/16-10/07/16	5	:30	6:30P- Wheel of Fortune		1		1		1			3	\$185.00	\$555.00	St Joseph (KQTV)		9/26/16
19.0	Revised Line / SPOT	10/04/16-10/06/16	5	1:00	6:30P- Wheel of Fortune			1		1							St Joseph (KQTV)		9/26/16
19.1	Normal Line / SPOT	10/04/16-10/06/16	5	:30	6:30P- Wheel of Fortune			1		1				2	\$185.00	\$370.00	St Joseph (KQTV)		9/29/16
20.0	Normal Line / SPOT	10/03/16-10/03/16	5	:30	7P- ABC Prime Mon 7-9p		1								\$675.00		St Joseph (KQTV)	Dancing with the Stars	9/26/16
20.0.1	Closed Preempt	10/03/16															St Joseph (KQTV)	No Avail/Exception -	
21.0	Revised Line / SPOT	10/03/16-10/03/16	5	1:00	7P- ABC Prime Mon 7-9p		1										St Joseph (KQTV)		9/26/16
21.1	Normal Line / SPOT	10/03/16-10/03/16	5	:30	7P- ABC Prime Mon 7-9p		1							1	\$675.00	\$675.00	St Joseph (KQTV)	Dancing with the Stars	9/29/16
22.0	Normal Line / SPOT	10/03/16-10/06/16	5	:30	9:59P- KQ2 Hometown News At Ten		1	1		1				3	\$425.00	\$1,275.00	St Joseph (KQTV)		9/26/16
	•	•	,		CON	FIF	ŔМ	AT	101	N C	COI	VΤ	RA	C	Γ		•	•	
Accepted-	-Agency/Advertiser:			Date:	Accepted-Si	tation:									Date:	Comments:			

See the back of this document for Advertising Contract Terms and Conditions

KG D	
Your Hometown NEWS	

KQTV (Nexstar Broadcasting Inchidertiser 2650 E Division Agency Product

Springfield, MO 65803

Canal Partners Media 25 Whitlock Place SW 2nd Floor Marietta, GA 30064

1436917 Contract #

Schedule Dates 10/03/16-10/09/16

Chris Koster/Governor/Democrat/MO (82428)

Canal Partners Media (19302) Political - Governor (1067)

Brand 726/837/4454 (563421)

Salesperson Katz - Washington DC, Washington DC (1179)

Sales Office Katz - Washington DC Chris, Brimer, **Buyer Name** 

CPE 726/837/4454 **Account Types** National/Political

Billing Type Standard

Comments

Phone/Fax

**Date Entered** 09/26/16 **Last Modified** 09/30/16

Mandy Jo Fultz **Entered By** No CO-OP

25318067 Headline #

Demo

Order Type Normal

Package Deal Commission %

15.00 Commission \$1,559.25

\$8,835.75

**Net Total** 

Sales Tax

St Joseph (KQTV)		
By Broadcast Month	<b>Spots</b>	<u>Rate</u>
Oct. 2016	84	\$10,395.00
Grand Total:	84	\$10,395.00
		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Line	Line Type / Break Type (Ref #)	Dates	Se	c Length	Run Times	SPW	Мо	Tu	We '	Th F	r Sa	Su	Spots	Rate	Total	Station	Comments	Entered
23.0	Revised Line / SPOT	10/05/16-10/07/16		5 1:0	0 9:59P- KQ2 Hometown News At Ten				1	1						St Joseph (KQTV)		9/26/16
23.1	Normal Line / SPOT	10/05/16-10/07/16		5 :3	0 9:59P- KQ2 Hometown News At Ten				1	1			2	\$425.00	\$850.00	St Joseph (KQTV)		9/29/16
24.0	Revised Line / SPOT	10/03/16-10/06/16		5 1:0	0 10:35P- Jimmy Kimmel Live 1035p		1	1	1	1						St Joseph (KQTV)		9/26/16
24.1	Normal Line / SPOT	10/03/16-10/06/16		5 :3	0 10:35P- Jimmy Kimmel Live 1035p		1	1	1	1			4	\$55.00	\$220.00	St Joseph (KQTV)		9/29/16
25.0	Revised Line / SPOT	10/07/16-10/07/16		5 1:0	0 11:05P- Jimmy Kimmel Live Delayed					1						St Joseph (KQTV)		9/26/16
25.1	Normal Line / SPOT	10/07/16-10/07/16		5 :3	0 11:05P- Jimmy Kimmel Live Delayed					1			1	\$55.00	\$55.00	St Joseph (KQTV)		9/29/16
26.0	Normal Line / SPOT	10/08/16-10/08/16		5 :3	0 7A- Good Morning America Saturday						1		1	\$50.00	\$50.00	St Joseph (KQTV)		9/26/16
27.0	Normal Line / SPOT	10/09/16-10/09/16		5 :3	0 7A- Good Morning America Sunday							1	1	\$50.00	\$50.00	St Joseph (KQTV)		9/26/16
28.0	M/G For 20.0.1 / SPOT	10/03/16-10/03/16		4 :3	0 9P- ABC Prime Mon 9p		1						1	\$675.00	\$675.00	St Joseph (KQTV)	Conviction	9/30/16
										·								
		•	•	•	CON	FIF	ŔМ	ATI	NO	1 C	OΝ	TF	RAC	Τ	•	•	•	

		CONFIRMATION CONTRAC		
Accepted-Agency/Advertiser:	Date:	Accepted-Station:	Date:	Comments:

See the back of this document for Advertising Contract Terms and Conditions

B/E Bookend P/B Piggy Back

CONFIRMATION CONTRACT  Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:							
Accepted-Agency/Advertiser: Date: Accepted-Station: Date: Comments:	CONFIRMATION CONTRACT						
				70141117701			
	Accepted-Agency/Advertiser:	Date:			Comments:		
See the back of this document for Advertising Contract Terms and Conditions	Accepted-Agency/Advertiser:	Date:			Comments:		

B/E Bookend P/B Piggy Back